B N ERE

1. LEA4
T4 R 6 — 9 SAMKILHE ARG 1 S 1.5
T4 8 T T AL X AR 4
2. TENE
1)  FHEIT4 B[22 B3 130 ) 1| H5 FT A8 BRGR
2) T I& BHERAR v 73w GIEEHERE)
3) T i 828 H [ H 0 7TH 3H25H
ES S 94 6H30H
4) T EgE

i@ Aokt 5w m



B N ERE

TH4 | R6— 9AbkILPARMS: L 5 T %

TEHEXSy - TfE - fER Bz ¥ & & Hm i N 7
fUET = 1 288, 378, 510
BHEAR V7" 2B Y 1 288, 378, 510
EF V7 R = 1 89, 948, 000 |15+ 7" TIGEAH 1 =
15 R V7" EBEN §7945 1 =
BHEAE1T ¢ 2000mm ;
T Eh 2V 1 196, 600, 000 | 145 == IR Ehi 1 =
7=t vyt H77736kW [ElERE EE750min-1
T EE T (B = 1 1,830,510 | THEREE (K V7" =y )™ BaKiE) 215 m2
ZEMETE FVRHIE R ;
e iR E = 2V 1 6, 037, 000
FlEL R 2V 1 294, 415, 510
TI5E e 2V 1 5, 101, 000
AR 2V 1 299, 516, 510
PEA T Y 1 25, 021, 550
BHEAR /7 BT = 1 879, 000
#aik T = 1 879, 000 | HE/KE V7" BRiw % 1 =
BHEARR V7" AR Y 1 24, 003, 606
KR V7 Pafr L = 1 24,003, 606 | W KFENHEK - IEKIES 1 2V
15358 V7" B Hh i g 1 =Y
145 3 R B T 1 2V
A A REIR I 1 2V
FGan Y 1 138,944

-1 - ESR o3 E < o] 3 ok S




H

HNERE

TH4 | R6— 9AbkILPARMS: L 5 T %

THEXS - T - FER - va ¥ = & Hm a1l M 3
JE SR T (B o) 2V 138,944 | 2 1 =
(T V7" Sy fiR s )
HE Y,
Il R = 2,922, 000
Il (it L) Y 2,922, 000
il TR = 27,943, 550
Bl Y 5, 904, 000
WL = 31, 322, 000
PEAT TR 5 = 65, 169, 550
A = 8,934, 000
T =5l = 373, 620, 060
— R B Y 44, 009, 940
T =AM = 417, 630, 000
-2 - B P K N o3 L i3 D




